Instructions lor use of the Universal Circls Slide-ruls (UCSE). 770

The UCSA Is equipped with five rings. ons fixed and #vE sliding. The
live rings ars gradustcd Into three diffsrent types of scales: X, X4, X3,
The full-longth, hrough-going scele lines sre called ‘D" or zero lines.

The fixed ring X' iz the cuble seale. It bs divided intg three X seaiex
from D to 10, from 1l]l::1lh-l|ﬂlﬂ-1mhlﬂ.-|nlilnnd"r-
ticularly for finding the cubg-root of l_;llll-hr or multipiying » mumber
by itacll hese—Bmas. "+ T 2

The thres X rings sre uvsed for multiplication and division or 3 com-
bination of both. The twe bottom rings X' are used lor the smme
perpose and for celculating the sqesre-reot of 3 mumber They mre
divided inlo X scaies.

When you calculate with one or mere dacimels by moans of the
UCEH, you de met put in the decimal peiat yntil the calceiation ks
complete. For example, 2.1%3.5 is mulliplied as 21X35=72% gad fhe
decimal point lg thes added =735
Uaing the X scale together with the X scale
Ex, 1. P=3X3N3=27
Sgt the "0° line on the top sliding ring under the 0 line on tha Fixed
ring, find sumber 3 on the scale and read ofl the resgh [(=2Z¥) oa X

Ex. 2. }pa=292
Sel scaigs X' and X on the "0 line, find numbar 60 on the X' scals sod
redd Lhe resull [=3.92] on the X scalg,

Using the X scales

Ex. 14 XA 5=ug

Sat the 0" ling on fhe lap X scale aver 14 oo the sext X scale dows.
ﬂlﬂiﬂﬂumﬁlhpllﬂliulrﬂlhrulll[t-]lqﬁum
scale &own.

Ex.B. SXrxXie=140

Sel the 0" line on the top X scale over the number 5 ca the naxt X

scale down, sad read the intermsdiste result [ =35) vnder the

?nﬂuhpln:ih.mmntlh'n‘liu“hﬂil-nh

35, and road the final regalt [=140) above the
Il you wse all three X scales, thers i no

mefiate result in miad. You can maflistication by wwi

betwagn the top and bottom X . whils

the sama plece. As I8 this exemple-

Ex. C. 2¥AXTHIRIKZ2=7268

Sel the 0" line om the top "X° scals sbove the nmumbar Z on the middl=
scale, and read the result under the number 3. Set the 0" line o0 the
botlom X smcale wnder this result (=86), end resd the resull over 1he
mhr?rﬂ]-hmhfliumn-hlnuh over 42, ang
read the recult (=378) wnder the number 9. Set the 0" line on Bw
Sotiom X pcale under this resull, snd resd B resglt [=1134) ower
rhu:I-FI-rl.l-'ljr“l:liu'lrIi-:mhhplmllmhm-ﬂ
raad lthe complets result yader the 2 {=22e8).

Ex. . 26:55=4

Find 26 on the middlie X scale, snd locals &5 &n
-mmum—:m-mu[:qmnvl

;
:
:
;
5

the top X scale
ine of the top X
Er.E. ’;“:1 -

l-lulllpll'u!i::-u i= done mc In the abave sxamples, and them 2.5 on the
ballam X scale iz lpcated under the intermediaty resuit [=125), and
the final rasuit (=80) can be resd abore the 0" lisg,

Using the X7 seale
Er. 10, ?fa=3

Set the "0 line on the three botiom rings sxaclly above each piher
than #lide the ' fine on the middlemast of thase thrss rings round
and Im:l:mlhmhrlummlsﬂ-.ﬂn.w'm
read the result [(=3) asbove the 0 lins,

Ex. 18, HP=5X5=2%
“Ilmlﬂillnnﬂﬂﬂllﬁm.muﬂ--u:ﬁﬁu one
tecepl that the 0" line Is pleced wader the number 5 ca the wpper-
I':ﬂ:ltﬂl'ﬂlﬁl‘ﬂ-l‘llﬂl. snd the resll [=38) Ie obtained oo the boltem
rimg.
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